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1308N087-2
ENGLISH VERSION

Instructions : (1) Figures to the right indicate Full Marks of the questions.
(2) Write answers of any three questions in Section-I and
Write answers of any four questions in Section-II.

SECTION-I

Answer any three of the following quesrions :
What is risk and uncertainty? Clarify the differences between risk and uncertainty.

Explain the decision free with the help 6f an illustration.

Write a note on Cost-Benefit analysis.

What is location? Discuss the Weber’s theory of location.

Write a note on break-even analysis.

Explain the effects of excise tax on equilibrium price and quantity.
Write a note on Game theory.

Write a note on Linear programming,.

SECTION-II
Answer in short two-three line from the following (any four) :
(1) What is pay-off matrix?
(2) What is tax on profit?
(3) Who gives the inductive theory of location.
(4) Give the assumptions of Linear programming.
(5) What is break-even point?
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1308N087-3 Candidate’s Seat No :

M.A. (Sem.-III) Examination
504 - Economics
(Financial Institutions & Market) (Old)

Time : 2-00 Hours] August 2021

Instructions : (1) Figures to the right indicate Full Marks of the questions.
(2) Write answers of any three questions in Part-I and
Write answers of any four questions in Part-II.

ga : (1) sl oug-l Qs e euld 8.
Part-I
QA wslidl slSuel aAeidl gdier Ul
Discuss the various components of financial system.
AlRWAY MaRel-l gl el w2sl AMendl.

Explain the relation between financial system and economy.
AlRUSlY ael A eldat QAL delw uxAAl.

_ Explain ('a ) Options ( b ) Futures.
y4ndl (a) Options ( b ) Futures.

Discuss economic reforms in money market.
Al ool 2UEs il QA wAl s

What is [IPO? Explain the process of IPO.
IPO 22d §? IPO -0l uBu wuxal.

Discuss ( a ) Treasury bills ( b ) Commercial papers
Yl 53 (a) Treasury bills ( b ) Commercial papers

What is money market? Discuss the features and functions of money market.

Al oo ed g7 -ueu ool aael i sl aal s

Write an essay on SEBI.
SEBI Gu: [Reiu «@uil.
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_ PART-II
MCQs (Total 8 Marks)

Attempt any four MCQs from the following eight MCQs
Aol s AnAllsyniell sguel AR AnAlsy cull

1. The most widely-held liquid securities are:
(a) commercial paper.
(b) banker’s acceptances.
(c) negotiable certificates of deposit.
(d) Treasury bills.

1. A at dret o134
(a) AW@> AUR
(b) A5 AsAeot

(c) udlgl3e A s SluoAle
(d) T-Bills

2. The least liquid money market instruments are:
(a) repos.
(b) commercial paper.
(c) Treasury bonds.
(d) bankers acceptances.

2. LML AU AREA IR eA1Re] Ulthol?
(a) Repos
(b) @ AUR
(c) T-Bonds
(d) dsA AsAe ot

3. The least homogeneous and standardized, and consequently, the least liquid of the following
financial assets would be:
(a) futures contracts.
(b) investment grade corporate bonds.
(c) bankers acceptances.
(d) commercial paper.

3. AELHL AL As3U YHIBlA AUA Aol Y et ol Aotimiell 585 otRigla wUsAUHAD
(a) AR 5lolse
(b) s\URe ollos
() Asd AsArect
(d) @2 QuR
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4. The amount that the issuer of a bond must pay to the bondholder at maturity is the:
(a) market value.
(b) discounted value.
(c) present value.
(d) face value.

4. ollos ol 6 520112 6llos URSA Aell Wscll Y& AMA ... 84 Ysadl?
(a) K1) HEA
(b) dalelsclle] Y
(c) UcARe{l B
(d) eLellls Bud

5. Corporate bonds are more likely to require higher interest rates when issued if they:
(a) are convertible.
(b) are collateralized.

(¢) contain call provisions. A
(d) are issued to finance construction of new plants and equipment.

5. slUlReell 6llos UR AL callogoll €2 ysadl ud A a
(a) scclBoict 8l
(b) AofMiBLs Alotoll 2 Al
(©) Slet WAxsetet A dlu
(d) ot Wellod A Hellotoll titsta 1S oltou 12 Y SRAUML w] Sla

6. Market capitalization is equal to:
() assets minus liabilities.
(b) the price of a company’s outstanding stock times the number of shares outstanding.
(¢) the sum of the value of all economic capital owned by a company.
(d) the par value of stock issued in an IPO by a new company times that number of
shares the company sells.

6. Hi52 3z Dot N2
(a) YBAHA clEGLS] aweaeld]
(b) Susllotl 21B2R(F 21 W&ol Brtet A et ules sl Qeitoll ARe{l Bt
(c) Suellofl ctell o 2l y3lef yeat
(d) Rsy1Elos oll Batct 2sell st ReAneell otsél 53 Q
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7. The value of a call option tends to be higher the:
(a) lower the current price of the underlying asset is relative to the strike price.
(b) less volatile has been the price of the underlying asset.
(c) longer the time till the expiration date of the option.
(d) higher the strike price is relative to the current price of the underlying asset.

7. Sl QoAletet of Yet catl? 83
(@) RUES WEU 5t sRR AU Retscoll Al B 20l Al
(b) sRRelloll Mesdell Bt e uRadet ollcd
(©) ¥ @letoll YA Uctioll QM Bay g2
(d) R0l Resdoll UG Bud s 2185 Y 6 8lat
8. When a futures contract expires, its price is the same as:
(a) the price of the underlying asset to be delivered.
(b) its original price increased by a specified interest rate over a specified period of
time.
(c) its margin requirement.
(d) the strike price.
8. S ARell 5212 YRl a2 Aoll Bt Ao 23 AR .........
(a) sRaull Mesd 2 BHad yta Quaell 22
(b) AssA AHA dUGUML Aoll WssU cueatl €2 Becll Budni auld atat

(c) Heslotoll s3dlauct
(d) Strike price




